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1. (1)4a/58 DLL (Dynamic Linking Library)?(5%)
(2) DLL Hijacking 2—1EE RAVEZENEFE » EElHNERE - 5%)
(3 BWPLETTET LUR{EE S DLL Hijecking BrEEESE - 28t - (5%)
2. ()fA]58 Cache?H ThRI Bl 7 (5%)
(2)EECI TSIRITE cache write policy BHEHREE © write-through and write-back » (5%)
3. HEHEOZELIT BISERRE @ (15%)
() (TERHEEERA Mesh IR B 4L ©
(b) RefrlEAR R = (Hash Function) # TR BRI EEM (Integrity) 7
(c) £/ FHSS AfilfeE MR EE B Tl o Lok S s 0
(d) CRC (Cyclic Redurdancy Checksum)i## {7 OSI +-/@ 2 E—/8 ?
(e) fHTEEEHE S i A2 (Modulation)HL i ?
4. HEWELT HTML BE RS2 ~ER  (5%)

<IDOCTYPE html>
<html>

<bedy>»

<p id="demo"></p>
Where is the text?

<script>
document. getElementById{"demc").innerHTML = “Hello!™;
</script>

</body>
</htmi>

5. ERWET HTML S5098REER » MERIR CSS B E « (5%)

<IDOCTYPE html>
<html>
<head>
<styles
hi.h {
color: red;
display: none;
}

pA
background-color: lightgrey;

width: 38@px;
padding: 18px;
border: 2px solid;

</style>

</head>

<body>

<h1>This is headingl</hi>

<hl class="h">This is heading2</h1>

<p>C55 describes how HTML elements are to be displayed on screen, paper, or in
other media.</p>

</body>
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6. CPM(Critical Path Method)%é—i%@ EM—{77E  SAETEZ 77EE » "Float” g “Slack” B |
TEEE 7 W A B S TR IAER % 7 (%5)

7. EHEREETENRGREE BN RGoITEIEES T TRfTE H%fﬂﬂé’]lf’lfkﬁﬂéﬂi{’ﬁﬁﬁiﬁﬁlﬁE—
—%I|H1E Gantt chat & (typically categorized within a work breakdown structure) » LAZERET {EBSAE
BEREREGEEETERME T (FEEEE R ? (fEEE ﬁ%%——ﬁJﬁLﬂzbl%\f
B e SRR BIERER) (%9)

8. E{Erclations ¥0T : 1. B4 (EeE #5 & - Hh TiE) 0 2 BEGEALRE 1E)3 €
SREEEASE - 255 0 B > 4. REGREAS  HERT)  ETERER Y atnbue)F relation
B8 - HPUERSZ SQL =R 71 - HEE— ﬂﬁl%&ﬁ’]ﬂ%ﬁ%@% » FIHEREBEURERESE
BIESF ~ ZAl - (%06)

9. EF¥E A, BWI entities RABHHEZRVEERM % 5L ERD (Chen notation 3¢ Crow’ s Foot notation) (&l
FRIERT entities K EYIFERI% o (£ © A Chen notation - ERD BINFEE S composite entity » LA
K entities ¥ EE RRVER) (%5)

10. “downcast” is important for polymorphism. Answer the following three questions with example code
to illustrate your answers {you may use Java, C++, or C# for the code)

(A) When should it be used? (5%)
(B) How can it cause run-time exception if not used pr_operly and how to avoid potential run time
error during downcasting ? (5%)
1. #E TEEERE  SERYESEARISHREEHRIES - (A)FEZ W dass diagram (5%) - (B)

EHIRRIREZURIE (10%) ° (8ZH class diagram EUEEE‘E‘LE$%EB% P2 class diagram %4
=k =Eilbay!
A ITHEIEER, + B 7ER#E 3 f BEEFRE + F — - FHEEGE - 58
A XY (XY BgFf 100 FYFEED - PSR « 7 E8IF B EFAHIE—75 /G5 -
Sample Input:

1/2 + 1/3 - 1/6

Sample Cutput:

2/3 b .1
i E @A A




